

Vendor Ranking

Page 1 of 1

08220913 Letting:

September 13, 2022 02:30

Contract:

E8T96-R0

Turnpike District:

Call Order: 002

Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

PALM BEACH, TURNPIKE Project(s): 44888717202 (*)

Contract Desc: RAMP ASPHALT MAINTENANCE - ZONE 1

PM

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FLORIDA BLACKTOP, INC.	Responsive	Winning bid	\$463,248.59	100.00% Intent to AWARD
2	GENERAL ASPHALT COMPANY, LLC	Responsive	Non-Winning Bid	\$532,345.00	114.92%
3	WEEKLEY ASPHALT PAVING, INC.	Responsive	Non-Winning Bid	\$627,387.50	135.43%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: SEPTEMBER 27, 2022, 4:00 PM



Tabulation of Bids

Letting: 08220913 September 13, 2022 **Call Order:** 002 **Contract:** E8T96-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 44888717202 (*)

Contract Descr: RAMP ASPHALT MAINTENANCE - ZONE 1

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to perform maintenance and repair of ramp asphalt pavement, including replacing existing asphalt pavement, providing thermoplastic pavement markings, and raised pavement markers, at various locations on the Homestead Extension of Florida's Turnpike, Milepost (MP) 0.0 to 46.5, Florida's Turnpike, MP 0.0X to 100.0, and Sawgrass Expressway, MP 0.0 to 22.5.

The Contractor shall perform all work during day and night hours in accordance with the Turnpike Lane Closure Policy.

Night work shall be performed between the hours of 9:00 PM to 5:00 AM, Monday through Friday Morning.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Asphalt Paving and Pavement Markings. The Experience in Asphalt Paving Form (850-070-01) and the Experience in Pavement Markings Form (850-070-06) must be filled out and submitted to be reviewed by the Department. If a Contractor is presently prequalified with the Department in Hot Plant Mix Bituminous Course, and Pavement Marking it is not necessary to submit the forms.

Line No / Item ID Alterna	te Quantity Units	(1) FLORIDA BLACKTOP, INC.		(2) GENERAL ASPHALT COMPANY, LLC		(3) WEEKLEY ASPHALT PAVING, INC.			
() indicates item is bid as Lump Sur	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN									
0005 0102 14 TRAFFIC CONTROL OFFICER	100.000 HR	77.52000	7,752.00	80.0000	8,000.00	125.00000	12,500.00		
0010 0104 18 INLET PROTECTION SYSTEM	5.000 EA	178.89000	894.45	125.00000	625.00	275.00000	1,375.00		
0015 0327 70 1 MILLING EXISTING ASPHALT PAVEMENT, 1" AVG DEPTH	18,000.000 SY	5.84000	105,120.00	4.00000	72,000.00	10.00000	180,000.00		

Page 1 of 4



Tabulation of Bids

08220913 Contract: E8T96-R0 Lettina: September 13, 2022 Call Order: 002 Line No / Item ID (2) GENERAL ASPHALT (3) WEEKLEY ASPHALT **Alternate** Quantity (1) FLORIDA BLACKTOP, INC. COMPANY, LLC PAVING, INC. **Item Description** Units () indicates item is bid as Lump Sum **Unit Price Ext Amount Unit Price Ext Amount Unit Price Ext Amount** SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN 234.50000 241.535.00 335.00000 0020 0337 782 1,030.000 345.050.00 285.00000 293,550.00 ASPHALT CONCRETE FRICTION TN COURSE, TRAFFIC C, FC-9.5, PG 76-22 8.35000 3,600.00 0025 0706 1 3 000.008 6.680.00 3.75000 3,000.00 4.50000 RAISED PAVEMENT MARKER, TYPE B EΑ 0030 0711 11123 400.000 3.88000 1.552.00 3.00000 1,200.00 9.00000 3.600.00 THERMOPLASTIC, STANDARD, WHITE, LF SOLID, 12" FOR CROSSWALK AND **ROUNDABOUT** 0035 0711 11124 750.000 5.96000 4,470.00 5.00000 3,750.00 4.75000 3,562.50 THERMOPLASTIC, STANDARD, WHITE, LF SOLID, 18" FOR DIAGONALS AND **CHEVRONS** 0040 0711 11125 120.000 7.45000 894.00 6.00000 720.00 10.00000 1,200.00 LF THERMOPLASTIC, STANDARD, WHITE, SOLID. 24" FOR STOP LINE AND **CROSSWALK** 20.000 119.26000 2,385.20 200.00000 4,000.00 300.00000 6,000.00 0045 0711 11170 THERMOPLASTIC, STANDARD, WHITE, EΑ ARROW 2.000 4,533.73000 9,067.46 10,000.00000 20,000.00 8.000.00000 16,000.00 0050 0711 15101 THERMOPLASTIC, STANDARD-OPEN GM GRADED ASPHALT SURFACES WHITE, SOLID, 6" 0055 2.000 2.171.89000 4,343.78 3.000.00000 6.000.00 10.000.00 0711 15131 5.000.00000 THERMOPLASTIC. STANDARD-OPEN GM GRADED ASPHALT SURFACES, WHITE, SKIP, 6",10-30 SKIP OR 3-9 LANE DROP

Page 2 of 4



Tabulation of Bids

Page 3 of 4

08220913 Contract: E8T96-R0 Letting: September 13, 2022 Call Order: 002 Line No / Item ID **Alternate** (1) FLORIDA BLACKTOP, INC. (2) GENERAL ASPHALT (3) WEEKLEY ASPHALT Quantity COMPANY, LLC PAVING, INC. **Item Description** Units () indicates item is bid as Lump Sum **Unit Price** Ext Amount **Unit Price Ext Amount Unit Price Ext Amount** SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN 2.000 9,067.46 10,000.00000 20,000.00 0060 0711 15201 4,533.73000 8,000.00000 16,000.00 THERMOPLASTIC, STANDARD-OPEN GM GRADED ASPHALT SURFACES, YELLOW, SOLID, 6" 11,581,21000 46,324.84 6,000.00000 24,000.00 15,000.00000 60,000.00 0065 E101 1 1 4.000 LO **MOBILIZATION** 0070 E102 1 3 4.000 5,790.60000 23,162.40 6,000.00000 24,000.00 5,000.00000 20,000.00 MAINTENANCE OF TRAFFIC (SITE LO SPECIFIC) 0001 ASPHALT REPAIR Section Totals: \$463,248.59 \$532,345.00 \$627,387.50 (MECHANICAL) (TN) **Contract Grand Totals:** \$463,248.59 \$532,345.00 627,387.50



Tabulation of Bids

Page 4 of 4

Letting: 08220913 September 13, 2022 **Call Order:** 002 **Contract:** E8T96-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.